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He, who applies it to the Xw9, certainly applies it to the X0

OVERVIEW

The 71wn stated two cases, one by an ¥°X NWX and one by a 7™M2w, that if the
woman testified (and there were no 0>7¥) that she was married and divorced,
or 7M7Y °N°2w1 she 1s believed [but not if there are 0°7v that she was married
or n°aw1i]. The 7i1wn concludes that if the 2°7v came after she remarried, the
rule is X¥n &Y. It is not clear if this rule applies to both cases (of X"X and
72w or not). The X na states that whoever maintains that this rule of X¥n X?
applies by X"X will certainly maintain that it applies by 72w, for by a 72w
(where the entire prohibition of a 72w to a j72 i1s 112777), the 0201 were
lenient. M0N0 challenges this assumption that the ruling of X2 NXWIwH OX
X¥n X9 0>7v applies to the X9°0 (of 7aw) if it applies to the Rw™ (of R"X).
Perhaps in the case of 7"12% we are even more lenient that by X"X.

mooIn asks:
= 1199 NI 9NN ON)

And if you will ask, how does the X773 assume that X908 w"2 XWX 107 187 -
- >NEM N9 2NN 79 INN) DOTY IND 19PONT IND I8 NY NOION NYT

Perhaps the rule of Xxn X9 07V X2 NXWIwn OX, cannot apply in the X5,
for in the case of *n*aw1 the rule may be that even if the 27 came first and

then she married, nevertheless she is not required to leave her husband (the
112), for by Y°pi1 2w,

N1B0IN answers:
- Y NN YN ND ND RY “7IN0a YI9NT INNPY)

And according to what the X713 will shortly explain that the term nos: (in
the ruling of 121 @>7v X2 NXW1wn aX) does not actually mean nos: (but rather

(even if) 7"°2 just permitted her to [re]marry), then it is properly understood.
There is no difference between 72w and 7w73; in both cases if Xw»? M0, she may

" The inference of X¥n XY D°7TY X2 NXWIWR DX is that if X¥N NXWI 3"MXY 0¥ X3, and by a 72w it is not
(necessarily) so.

? They came after she testified "X 71770 *n°aw3 and 72 accepted her testimony (based on the “oxw 719).
? See ‘thinking it over’ # 2.

4 On this 7Y; 191 wan DRWI DRWI R? HRIDWT 712K K. See ‘Thinking it over’ # 3.
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marry (even if 0*7v 2 before she [re]marries)’, and if Xw1> mM7°n7 K> then the ruling is
X¥n in both cases.’

SUMMARY

If we assume that in a case of *IX w173 X"X she is not permitted to remain
married if she remarried after the MR >7v came, we can still maintain that
in a case of "IX 7717V °*n°2w1 she may remain married (to the 372) even if she
married after the 712w >7v came. However if we maintain that by 721731 R"X
*IX she may remarry even after the 0°7v came (as long as Xwin% m7°ni), then
the same rule would apply to °IX 77701 "nAawl.

THINKING IT OVER
1. What did m»oin assume (in his question) would be the view of the one
who is X9°0K 7% *1nn; what would be the 7 in the xw*?’

2. In his question, md0IN asserts that it is possible that the Xw X “1nn7 XA is
not Xo°0X "IN (because in the X9°0 even if R¥N K NXwI 2"nRY o7y w2).* If
that is so, then why did the miwn write the ruling of X2 0°7¥ IX2 DRWIWH OX)
X¥n after the x9°0, if it pertains only to the Xw™?! The 7i1wn should have
written it after the X9, before the xp°0!’

3. mooin clearly states that 702 waonT 1 *9% there is no question,' so what
is Mmoo question?!'!

> See following Xxn X7 71"7 MoOMN.

%It is self-understood that if the 712w >7v came, before "2 accepted her testimony to permit her to remarry,
that she is MOX to remarry, and if she did so, the rule would be Xxn.

" See (TMx7) "W

¥ See footnote # 3.

? See v"w.

19 See footnote # 4.

' See »"1m.
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